BB 1  (FE84EER)

BB IR kOB E .
FEEEE LT A SH
Y274 1H 1R85
L2741 2H318%T
(BiAT: 1)
O &=k
HE &% HA &8

R 612,045 |2 406,856

BER T G 540,365 | EEEHLARIRDE 0
HEE 78,663 | HALIEINEE 406,856
IRt 141,837 BHK O EENLOERIN L 72,098

Ed =42 72,064 B fEE A b ORI IR 0

THEES R 6,846 B HMRAIFEEE ) SO RERINEE 334,758

BEH 8,022 | FD{MFEREEEREIN 0

MR 34,190 | GH{ERMRA) 0

BB & ERHE 3,321 | (Mt —E RBHRA) 0

DR 17,394 | (s Rigist TYriagig ) 0
bRk =E2IE Lo 319,865

—REBEE 71,680
B B 12,932
e IR 45,020
T4 BRE 1,727
ANEBE 803
REEE 5,953
BEMEE 0
AT A 0
B 5,245

FER RS HE R Y R 0

BEERRCUTEERR) (205,189)

BN A 10,263 ‘B 5N 6,526
HainE 10,235 | &E&EH 0
MEZ % 0] HEA 6,526
FDih 28 | Eofth 0

% 0 (455UFIZE 333

ﬁm_ﬂﬂwﬁﬁﬁﬂﬁw_ﬁ}w%ﬁm_ﬁg (208,593)

LB S| BiTREES b B BN P 2 SR 2%) ’

EABS 0

ﬂﬁﬁ#ﬁﬁﬁ}%%&é%ﬁﬁﬂ% (208,593)

A5 BEEERPT X 4R I8 25) ’

(FERRIRIRBBAEFR)

(B : Fm3, TH. M,/ m3)
FERE AR i FEEIR IR B

FEIEME IR - - -

BiA O BERLOFCHRAE 9,463 72,098 7.62

B NS B D HOFERRI A - - -

BRI EERE»LOERNE 8,630 334,758 38.79

FOMMFER A BRI — - -

PRI A 18,093 406,856 -




B2 (BALBIR)

Rt ik @ OE OB E

EEFH WA SH

FR274¢€ 1A 18”5
FRR2T7T4#£12A318FT
(B M)
H B &
Rt FHe {1 ] E 0
® W ® = (F ¥ ) 2,682,047
Ei i & E & EE 15,150
& LY Al A # H 3,122
i #in & ¥ 35,561
o Fiia & PE 0
7t % & E & E 2,735,880
(—BHAFEE AXERHEEERR)
(BN )
=E TR 2B B E k24T HWWWWW R TR TR O
pe e
A (FEEE L) 337,999 142,880 153,160 204,109 305,646 228,759
&t 337,999| 142,880 153,160  204,109] 305,646 228,759




L 3 (58 5 RBER)

1K
BB R W B o® %
BpEs \IRHAMa
FR274 1A 1HNMS
FHR2THELI2HIIBET
(BAL @ FH)
H A S # (FF)
FE R P AP 4 A 008, 59)
(KIZRERELHRBHETRPT L HREHRR) (D) .
SERULRBLEM BRI (©) 10, 934
HOBZHHE (B) 0
FEROREEHFON I RA XHEER. ) @) 10, 264
MR ORI O R RIS HIAZRL, ) (©) 0
SER GBI DRI (©) 333
ZOHMEE (D=-0—-@+®) 0
HHERHTA, (@) 0
B — € BLA (@) 0
EARERER @ 0
LHEEAEE (CUIBNRIER) (900, 596)
@=0D-0+B+@-0-O+®) - 098
> BB B & SRR & ORBLE (@) A 203, 626




BHEHRS WEHAKAH

ER27FE 1H 1BMS
ERR27THE12831HET
(7 : TH)
H H & # i &

AIHEER N REE (UIRRERREE (@) (196, 337)
WA UILuirEE) @) (209, 596)
LARAR AR (I3 RIERRE) (405, 933)
(@=0+2) :
—EREERE (@) 298, 759

—EKEEEE (O=C-@)




YRR278H 1A

HEEYL WEHABRASH
LADMS

TR2TELI2AZIEET
(B4 © FF)
= L R i %
BOE 8 E 0
. AT, SATAT, XA BT, BT A
O B 106, 092 [F e i
g 106, 092




BREEL BT ARASHT

FER27HE 1H 1HDMS

T2 7TEI2H3I1IRET
(Bifir : FH)

H H & B

BiT 1 AR IR B8 AR AR 2 4 (@ A 210, 088
LAEENEE CUILBHRER) (@) (209, 596)
EITHE (@ 0
LHISERER (RIS cSEREsn @) 106, 092
EY=gIES e ® 0
LHNHERELE (@=0+0-0-0-®) A 525, 776




